Reading: Point of View and Line of Argument Mark Scheme
Q1 Explicit (1]
Q2 Any 1 from:
* ‘Humanity’s reliance on fossil fuels is the true
drl\{er behind Ithe global temperature increase. [1] Allow any suitable alternatives
« Indirectly stating why electric cars should be used
+ ‘anything we can do to reduce our emissions on a
personal level
Q3 Any 2 from:
» Electric cars take a long time to charge [1] Allow any suitable alternatives
» Electric cars are expensive
Q4 Any 1 from:
* It will help the environment to use electric cars
* It's more environmentally friendly to use electric [1] Allow any suitable alternatives
cars
* Humans are having a large impact on the
environment and need to reduce it
Q5 Any 1 from:
* Rachel Pinks (1]
* The third contribution
Q6 Any 1 from:
* Explicit point of view will directly state the author’s
opinion, e.g. ‘electric cars are bad’ [1]
* Implicit point of view talks around the issue, not
directly addressing it
Q7 Circled (a) Neutral (1]
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